            Math 10031  Chapter 2,  Sec 2.4  Computation with Formulas
                                       Supplemental  Problems

Apply the proper formulas and use algebra to solve the following problems.

Solve for the indicated variable.

1.   Given the formula  for area of a trapezoid,   
[image: image1.wmf]1

()

2

ABbh

=+

,    A = 24 ,  b = 4,  h = 3, find  B.

2.    Given the formula for perimeter of a rectangle ,   
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,      P = 46,   L = 15,   find w. 

3.   Given the formula,   
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,    x = 
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, find  y.
4.   Given the formula area of a rectangle ,   
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,   A = 546 
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,    L = 52 in , find  W.

5.  Given the formula for area of a triangle   
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 where b is the base of the triangle and h is the 

    height of the triangle.  Find the height h when A = 250 
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,  b  = 4 ft. 

6.  Given the formula for volume of a rectangular box,    V = lwh,    V = 560 
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,  l =20cm , w = 7cm,  
      find  h.
7.   Given the formula for profit,   Profit = Revenue – Cost ,  Profit = $490,  Revenue = $1370, 
       find Cost.
8.   Given the formula,   Total
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,  Total Cost= $ 4500,  n = 90 ( number of units) , 
       find  p( price of each  item).
9.  Given the formula for distance D with rate r and time t ,   
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,  D = 576 miles,  t = 9hours  , 
      find   r (miles per hour).
Solve the following problems .

10.  Find the area of a tennis court that has length of  20 ft  and width of   9 ft. 
11. How far does Tina travel if she pedal her bike at the rate of  5mph for 3 hours?
12. Find the perimeter of a triangle with sides 21 inches, 24 inches and 34 inches.  
13. A circular dance floor with a radius of  4 feet . How many square feet area does this floor have? 
14. How much water can be filled in a rectangular tank with  length = 8 feet, width = 4 feet and 
      height = 3 feet? 

15.  An automobile dealer can sell an average of  8  cars per day at a price of  $ 24,000 per car. If each car  

     costs him $12,000. How much is his daily profit?

16.  An airline finds that if it charges  $165/ ticket  it can sell 450 cross country tickets per day.

  Its cost for each ticket is $ 45. How much profit does this airline make per day?     
17. A set of 3 type A batteries costs $5 and a set of 2 type B batteries costs $ 4 . How much 

 will it cost  to purchase 12 type A batteries and  6 type B batteries? 
18. Hanna sells cookies to help raise fund for her class field trip. She estimates that it costs her 5 cents for
      the ingredients to make each chocolate cookie. If she makes 250 cookies and sells two cookies for
      $1.00, how much can she raise for her class field trip?  
19. The English system users measure temperature in degrees  Fahrenheit ( F). Water freezes at 32ºF

 and boils at 212 ºF. The Metric system users measure temperature in degrees Celsius ( C ). Water

 freezes at 0 ºC and boils at  100 ºC. The relationship between Fahrenheit and Celsius degrees is

 given here    
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(a)  Change 95 ºF to Celsius.
(b)  Would you be skiing at 45 ºC? Explain.
(c)   Rewrite the given formula to express C  in terms of  F. ( i.e finding Celsius degree when 

         Fahrenheit degree is known).     

20.  A radio station is allowed by the FCC to broadcast over an area with a diameter of 300 miles. How 
          much area of coverage is this?
21.  Find the side of a cube if the volume of this cube is 27000 cubic feet?  

22.  There are 38 feet of fence is used to enclose a circular flower garden. What is the largest radius of this
       circular garden that can be enclosed?

23.  A triangular wall is to be painted with an area of 108
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 and a base of 18 ft wide. How high
 should this wall be painted? 

24. During a vacation trip you stop by a gas station to fill up your gas tank. If gasoline cost  $ 3.95 per

      gallon, how much gasoline can you purchase at most with $64?
25.  Tiffany travels 21 miles on her roller–blades for  
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. What is her average speed?     

26.       Determine the perimeter and area for each figure. 
           ( Note:   Figure is not to scale.) 
 (a) Scale: 1 grid mark = 1 cm . Answers may be expressed in terms of 
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27. Find the area of the shaded regions.
   

                           4 cm
                              Answers to Supplemental Problems Chapter 2,  Sec. 4

1.   B = 12                                                                                    21.  30 feet                                                                                   
 2.   w =  8                                                                                    22.  Radius =  6 feet .  
3.  – 57                





     23.  Wall height = 12 ft 

4.   W = 10.5 in                                                                            24.  About 16 gallons
5.  h = 125 ft                                                                                25.  12 mph
 6. h = 4 cm                                                                                 26.  (a)  Perimeter = 
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                  7.   Cost = $ 880                        




(b)  Perimeter = 83 in                                                                                                                                                                                                                                                                                     

                                          





      Area = 155 
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8.   $ 50          





                27.  Areashaded region = (
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9.    Average speed = 64 miles/ hour
10.  Area  = 180
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11.  d = rt = 15 miles
12. Perimeter =  79 inches
13. Area =  50.24 
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14. Volume = 96 
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 (  96 cubic feet of water)
15. Profit = $ 36,000/ day
16. Profit = $ 54,000/day
17. Total Cost = $ 32
18. $112.50 

19. (a)  35 ºC

(b) 113 ºF.  No, temperature is high we would not be skiing. 

(c )  
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20. About 70,650  square miles( Use 
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